





#### **Business Plan**

On

## **Income Generation Activity**

## **Bag-making**

Ву

## Self Help Group-Maa Baglamukhi



SHG/CIGname VFDS name

Maa Baglamukhi/ Ghathutar

Range

Nagrota Surian

Division

Dehra Divison

PreparedUnder-

Project for Improvement of Himachal Pradesh Forest EcosystemsManagement & Livelihoods (JICAAssisted)

## **TABLESOFCONTENTS**

S.no	Particulars	Pageno.
1.	Introduction	3
2.	DescriptionofSHG/CIG	4
3.	BeneficiariesDetail	5
4.	GeographicaldetailsoftheVillage	6
5.	MarketPotential-	6
6.	ExecutiveSummary-	7
7.	DescriptionofproductrelatedtoIncome GeneratingActivity-	7
8.	DescriptionofProductionProcesses-	7
9.	DescriptionofProductionPlanning-	8
10.	DescriptionofManagementamong members	8
11.	SWOTAnalysis	8-9
12.	DescriptionofEconomics	9-11
13.	CostBenefitAnalysis(Monthly)	11
14.	FundflowarrangementinSHG	11
15.	Sourcesoffund	11-12
16.	Training/capacitybuilding/skillup-gradation	12
17.	Computationofbreak-evenpoint	12
18.	BankLoanRepayment	13
19.	MonitoringMethod	13
20.	Remarks	13
21.	Groupmemberphotos	14
22.	Groupphoto	14
23.	Resolution-cumGroupconsensusform	15
24.	BusinessapprovalbyVFDSandDMU	16

#### 1.Introduction-

BagmakingistheIncomegenerationactivitythathasbeen decideda Maa Baglamukhi SHG which falls under VFDS Ghathutar of Range Nagrota surian and Division Dehra. There are different types of bags such as school bags, travel bags, carry bags,sling bags,laptopbags andmany more.Al thesebags aremadewithdifferent material by stitching.Bagshavetheirdemandallovertheyear anditisusedbyallagegroups.

Agroupof16womenofdifferentagegroupcametogethertoformaSHGon15/9/2022 under the Project for Improvement of Himachal Pradesh Forest EcosystemsManagement & Livelihoods decided which and to craft business plan can help them to take Bag Making as their IGA in collective manner and raise their additional income.

Afterdiscussingaboutthemarketpotentialanddifferentaspectsverycarefullybefore getting this IGA (Income Generation Activity). The Maa Baglamukhi SHG group hascollectively decided of bag making as their Income Generation Activity (IGA). This SHGconsists of 16females. The group will start making good qualities bag after getting thehelpfrom theproject. Project willsupport them by providing funding, training and assistance that they need to develop this skill and become professional. They will be able to makedifferent types of bags will self independent The and become and generate income. detailedbusinessplanofthisSHGhavebeencraftedaccordingtoitsinvestmentcapacity,marketing& promotionalstrategyandthedetailedactionplanwillbediscussedhereunder:

## 2.DescriptionofSHG/CIG

1.	SHG/CIGName	Maa Baglamukhi	
2.	VFDS	Ghathutar	
3.	Range	Nagrota surian	
4.	Division	Dehra	
5.	Village	Ghathutar	
6.	Block	Haripur	
7.	District	Kangra	
8.	Totalno.ofmembersinSHG	16	
9.	Dateofformation	08-09-2022	
10.	Banka/cNo.&IFSCcode	50100577784610	
11.	Bankdetails	HDFC	
12.	SHG/CIGmonthlysavings	50Rs	
13.	Totalsaving	800rs	
14.	Totalinterloaning	2000rs	
15.	CashCreditLimit	1%	
16.	Repaymentstatus	-	

## 3. Beneficiaries Details

Sr.no.	Name	M/F	Father/Husbandname	AGE	Designation	Contactno.
1	SHAKUNTLA DEVI	F	W/O OM PARKASH	63	Pradhan	8894984142
2	SUDESH KUMARI	F	W/O ASHOK KUMAR	42	Secretary	8894098173
3	RAJ KUMARI	F	W/O TILAK RAJ	44	Treasurer	8894152655
4	SEEMA DEVI	F	W/O SURESH KUMAR	44	Member	9805451269
5	ASHA DEVI	F	W/ONARESH KUMAR	37	Member	8894208368
6	SUDHA DEVI	F	W/O SUKHDEV	45	Member	8894984142
7	SUMAN LATA	F	W/O VIPAN KUMAR	39	Member	8219649523
8	RAJ KUMARI	F	W/O AJIT KUMAR	43	Member	7018540903
9	REKHA DEVI	F	W/O PIRTHI PAL	41	Member	7807382278
10	ANITA DEVI	F	W/O RAJESH KUMAR	40	Member	8679490329
11	MANJU BALA	F	W/O AJAY KUMAR	33	Member	6230175482
12	MANJEET BALA	F	W/O KARAM SINGH	41	Member	8894024792
13	YASHODA DEVI	F	W/O ASHOK KUMAR	51	Member	9805205536
14	PRIYANKA DEVI	F	W/O RAKESH KUMAR	40	Member	9816844419
15	SUMAN DEVI	F	W/O GIRDHARI LAL	42	Member	7876765122
16	KAMLESH KUMARI	F	W/O DEVRAJ	46	Member	9805231767

## 4. Geographical details of the Village

1	Distance from theDistrictHQ	65 Km
2	DistancefromMainRoad	3km
3	Nameoflocalmarket&dis tance	Haripur& 5km
4	Nameofmainmarket&distanc e	Nagrota Surian&11 km
5	Nameofmaincities&distance	Nagrota Surian-11km,Jawali-35km
6	Nameofmaincitieswhereprod uctwillbesold/marketed	Nagrota surian,Haripur,Jawali

## 5. MarketPotential-

After learningtheskill of bag making, this Sidh Mahadev SHG will target the local population of their area and nearby villages. There is a huge market potential with the increase and change of fashionatarapid face the demand of latest design bag will be the real laround the year.

1	Potentialmarketplaces/locations	Villagecovered-Nagrota surian		
2	Demandoftheproduct	Throughout the year high demandinre andmarch school opens. when		
3	Process of identification of market	Groupmemberswillcontactnearbyvillagers/h ouseholds/institutions.		
4	MarketingStrategy	SHGmemberswilldirectlytakeorders(g rouplevel)fromnearbyvillagers/househ olds/shopkeepers/institutions.		
5	Productbranding	Maa Baglamukhi Bags		
6	Product"Slogan"	"Maa Baglamukhi" bags-bestinquality"		

### 6. Executive Summary-

BagmakingincomegenerationactivityhasbeenselectedbythisSelfHelpGroup.ThisIGAwill be carried out by all ladies of this SHG. This business activity will be carried out yearly bygroup members. In the nearby market, there is a substantial demand for school bags, handbags,travel bags, and carry bags. After numerous meetings, the group has finally determined that thisactivity will unquestionably be a means of generating cash for the group, keeping in mind thedemandforbagsinthesurroundingmarketplaces.Thedivisionoflabourbetweenthemembers havebeen planned carefullyso that eachand contributes towardsstrengtheningtheIGAandresultingtheadditional moneyintotheirpockets.

### 7. Description of product related to Income Generating Activity-

1	NameoftheProduct	Schoolbags,handbags,travelbags,andcarrybags
2	Methodofproductidentification	Hasbeendecidedbygroupmembersafternum erous meetings.
3	ConsentofSHG/CIG/clusterm embers	Yes

#### 8. DescriptionofProductionProcesses-

- Totalnumberofmembersinthegroupis 16. Almostallthemembersinthegroupwillonlywork for 4 hours daily as they have other agriculture and domestic work. They will work for 6daysperweek. So, we can say, members of the group will be working for 1600 hours monthly.
- The group will make 20 to 30 bags per day initially later with experience they can increase thenumber. Inamonth, the group will make approx of 800 bags.
- ➤ Based on assumption/experience each bag will be manufactured by using material i.e. Mattiecloth, zip, locks,sticker, wire covering,niwar etc.; cost of which will depend on the type andsizeofbag. WecanconsidertherangeofpriceofusingrawmaterialtoliebetweenRs80toRs400.
- The total working hours of 1 member in a month (total working days in a month will be 25 and 4hours per day) will be 100 hours (25 days × 4 hours) and Total working hours of 16 member of SHG in a month will be 1600 hours (25 days). Total labour days in a month for the wholegroupwillbe 200days (1600÷8). The labour cost comes out to be Rs 70,000 (200×350).

Range: Nagrota surian

Forest Division: Dehra

### 9. DescriptionofProductionplanning-

1	Productionpercycle(month)	1month=800bags
2	Numberofladiesinvolved	Allladies (onrotation basespermonthasdecidedbySHG Members)
3	Sourceofrawmaterial	Localmarket/Mainmarket
4	Sourceofotherresources	Localmarket/Mainmarket
5	Expectedbagproductionperday	20-30bagsperday

### 10. Description of Management among members

BymutualconsentSHGgroupmemberswilldecidetheirroleandresponsibilitytocarryoutthework. Workwillbedividedamongmembersaccordingtotheirmental and physical capabilities.

- ➤ Somegroupmemberswillinvolveinpre-productionprocess(i.e.procuringofrawmaterial)
- > Somegroupmemberswillinvolveinproductionprocess.
- Somegroupmemberswillinvolveinpackagingandmarketing.

### 11.SWOTanalysis-

- Strength—
  - ♦ Rawmaterialeasilyavailable.
  - ♦ Manufacturingprocessissimple.
  - ♦ Properpackingandeasytotransport.
  - ♦ Productshelflifeislong.
  - ♦ Weakness-
  - ♦ Shortageofreservefundwiththegrouptoinvestontherawmaterialandtowaitforthesaleoftheproduct.
  - ♦ Lackofconfidenceinthegroupmembersregardingthesuccessofbusiness.
  - ♦ Highcompetitionwiththefactorymadebagspresentlybeing imported by the local traders.
- Opportunity—
  - There are good opportunities of profits as product cost is lower than others ame categories of products.
  - ♦ There are opportunities of expansion with production at a larger scale.
  - ♦ Demandallaroundtheyear.

## ❖ Threats/Risks—

- ♦ Riskofconflictinthegroupmembers.
- $\label{eq:continuous} $\diamondsuit$ Suddeninc rease in price of raw material.$
- ♦ Competitivemarket.

## 12.DescriptionofEconomics-

A.Capital	A.CapitalCost					
S.No.	Particulars	Quantity	UnitPrice	Amount(Rs)		
1	Maa Baglamukhi BagMaking Machine(95T10)withMotor &stand	10	10000	100000		
2	Maa Baglamukhi BagMaking Machine(95T10)withstand	6	8500	51,000		
3	WoodencounterTable	2	5000	10,000		
4	Mat	2(8×10)	3000	6000		
5	SteelRacks	2	4000	8000		
6	ToolKit	8	1000	8000		
7	Chair&stool	15	1000	15000		

## $Total Capital Cost(A) = Rs \underline{1.98000}$

B.Re	B.RecurringCost					
S. No.	Particulars	Unit	Quantity	UnitPrice	TotalAmount(Rs)	
1	Mettycloth	Mtr	340mtr	140	47600	
2	Parachutefabric cloth	Mtr	160mtr	130	20800	
3	JuteFabric	Mtr	140mtr	120	16800	
4	BagSticker		1600	4	6400	
5	Kunde/Lock/Button	Kg	2	1800	3600	

6	Hallrent,&stationer yexpenses	LS	1	3000	3000
7	Foam&Plane printedliningfabric	Mtr.	320	110	35200
8	ThreadReel6,8,10	Nos	200	60	12000
9	MachineNeedle21, 23No's	-	200	10	2000
10	Marker& MeasurementTape	-	-	-	1000
11	Runner5&8No's	Dozen	80	45	3600
12	TaniBag	KG	500	8	4000
13	TaniBag	KG	500	6	3000
14	Chain5No.	Mtr	400mtr	6	2400
15	Chain8No.	Mtr	360	10	3600
16	Labourwo	-			
Total	TotalRecurringCost(B)=165000				

C.Costofproduction(Monthly)						
S.No.	Particulars	Amount				
1	Totalrecurringcost	165000				
2	10% depreciationannuallyoncapitalc ost	19800				
<b>Total= 184800</b>	Total= 184800					

D.Sellingpricecalculation						
S.No.		Particulars	Unit	Amount		
	1	Costofproduction(carryBags)	1	Approx Rs.20,60,100,130,400		
	2	Expectedsellingprice (School/GirlssideCollegeBag	1	Approx40-80-120-300- 400		
	3	Currentmarketprice(Travelling Bag)	1	100-150-250-400-500		

## 13.CostBenefitAnalysis(Monthly)

Costbenefitanalysis(monthly)							
S. No.	Particulars	Amount					
1	10% depreciationannuallyoncapitalcos t	19800					
2	TotalRecurringCost	165000					
3	Totalproductionofbagpermonth	800 (approxallsizes100,80,60)					
4	SellingPriceofperbag	40to400					
5	Incomegeneration	272000					
6	Netprofit(Incomegeneration- Recurring cost)	107000					
7	Grossprofit(Netprofit-LabourCost)	37000-/					
8	Distributionofnetprofit	<ul> <li>✓ Profit willbedistributedequally amongmembersmonthly/yearlybasis.</li> <li>✓ ProfitwillbeusedforfurtherinvestmentinIG A</li> </ul>					

## 14. FundflowarrangementinSHG-

S.No.	Particulars	TotalAmount (Rs)	ProjectContributi on	SHGcontribution
1	Totalcapitalcost	198000	148500	49,500
2	2 TotalRecurringCost		0	165000
3	Training/capacity building/skill up- gradation.	50,000	50,000	0
	Total	413000	198500	214500

#### Note:

- i) Capitalcost-75% capitalcostwillbebornebytheprojectand25% bythe SHG.
- ii) Recurringcost-tobebornebytheSHG.
- iii) Trainingandcapacitybuilding/skillupgradationtobebornebytheproject.

### 15.SourcesofFund-

Projectsuppor	<b></b>	75% of capital cost will be provided by		Procurement
t		projectifmembersbelong	to	ofmachines/
		SC/ST/Poor	women.	eq
		Ifthemembersbelongtogeneral		uipmentwillbe
		then50% capital costis will be		doneby

		bornebyproject.	respectiveDMU/FC
	<b>♦</b>	Upto Rs1 lakhs	CU
		willbeparkedintheSHGbankaccou	afterfollowin
		nt.	gallcodalform
	<b>♦</b>	Training/capacitybuilding/skillup-	alities.
		gradation cost.	
	<b>\$</b>	The subsidy of 5% interestrate will be	
		depositeddirectlytotheBank/Financ	
		ialInstitutionbyDMUandthisfacilit	
		ywillbeonly for three years. SHG	
		have	
		topaytheinstallmentsofthePrincipal	
		amountonregularbasis.	
SHG	<b>\$</b>	50% or 25% of capital cost to	
Contribution		bebornebySHGforgeneralcategory	
		andothercategories respectively.	
	<b>\$</b>		
		project if the group is	
		womengroup.	
		O 1	
	<b>\$</b>	RecurringcosttobebornebySHG.	
		•	
	1		

## 16. Training/capacitybuilding/skillup-gradation-

Training/capacity building/skill up-gradation cost will bebornebyproject. Following are some training/capacity building/skillup-gradation proposed/needed:

- ♦ Cost effective procurement of raw material
- ♦ Quality control
- ♦ Packaging and Marketing
- → Financial Management

#### 17. Computationofbreak-evenpoint-

=CapitalExpenditure/[sellingprice(perbag)-costofproduction(perbag)] =1,98000/(340-231)=1816

Inthisprocessbreak-evenwillbeachievedaftermaking 1816 bags.

#### 18. BankLoanRepayment-

If the loan is availed from bank it will be in the form of cash credit limit and for CCL there is not repayment schedule; however, the monthly saving and repayment receipt from members should be routed through CCL.

- ❖ In CCL, the principal loan outstanding of the SHG must be fully paid to the banks once a year. The interest amount should be paid on a monthly basis.
- ❖ In term loans, the repayment must be made as per the repayment schedule in thebanks.
- ♦ Project support The subsidy of 5% interest rate will be deposited directly to the Bank/Financial Institution by DMU and this facility will be only for three years. SHG/CIG has to pay the installments of the Principal amount on regular basis.

### 19. MonitoringMethod-

- Social Audit Committee of the VFDS will monitor the progress and performance of the IGA and suggest corrective action if needed to ensure operation of the unit as per projection.
- SHG should also review the progress and performance of the IGA of each member and suggest corrective action if needed to ensure operation of the unit as per projection.

Some key indicators for the monitoring are as:

- ♦ Size of the group
- ♦ Fund management
- ♦ Investment
- ♦ Income generation
- ♦ Quality of product

#### 20.Remarks

Members belong to low income group and they can contribute 25% and project has to bear remaining 75%.

SHG:MaaBaglamukhi VFDS:Ghathutar Range:Nagrota Surian ForestDivision:Dehra

# 21. Group member's Individual photos



# 22) Group Photograph's:-



## Prepared by:

Mr. Madan Lal Sharma (Retd. HPFS)

Ms. Deeksha (SMS)

Ms. Shivani (FTU Co-ordinator)

Resolution-cum-Group Consensus Form

It is decided in the General House meeting of the group Man Logarith Held on 08/09/2002 at Croth Live that our group will undertake the Brames ex as livelihood Income Generation Activity under the Project for Improvement of Himachal Pradesh Forest Ecosystems management & Livelihoods (JICA Assisted). Livelihoods (JICA Assisted).

21300001

Signature of Group Pradhan

Sustantikumoni Signature of Group Secretary

## **Business Plan Approval by VFDS & DMU**

Business Plan is submitted through FTU for further action please.

Thank you

지하어에 Signature of Group President

Signature of President VFDS
Manged- kumar

Signature of Group Secretary

Approved DF°

# Submitted to DMU through FTU

Name & Signature of FTU Officer

Range Forest Officer Nagrota Surian (H.P.)

Name & Signature of FTU Coordinator | Culder Bingh Forest Guard | Ile Bilaspur Beat

**Approved** 

Name & Signature of DMU Officer